[bookmark: _GoBack]Why is the final election/ debate limited to two candidates? Who decided that it had to be this way?

I too was wondering why we utilize a two party system. After doing some research, I found a couple reasons. One being that Republicans and Democrats are the two largest parties. Often times it is difficult for a Green or Libertarian nominee to raise enough funds to be considered a legitimate candidate or even to market themselves enough to be. We also have to take into account that historically, this is the way it has been done for centuries and it can sometimes be difficult to change these things. Another reason why we have a two party system is because we have this “winner takes all” mentality – there can only be two candidates and the best one wins. While it is possible the that a third party candidate can earn electoral votes, it has not happened in a very long time which makes it even more difficult for a third party candidate to become president.
